Rhetorical: Organization Practice “ACT-Type Questions”
1. C

(Sentences 2 and 3 should be switched. Sentence 3 logically follows sentence 1, which states that the comics needed another superhero. Sentence 3 says that Batman was created. Then sentence 2 describes an invitation to come over to see the new creation. The remaining sentences are in the correct order.)

2. H

(Sentence 5 should be deleted. Sentence 2 is important because it describes a discussion about Batman’s creation. Sentence 3 is important because it mentions who created Batman. Sentences 5 and 6 each provide details, but which detail is more important? The mention of the wings in sentence 6 makes it more important because these are Batman’s trademark. Sentence 5 is the best candidate for deletion.)

3. C

(Sentence 3 must follow sentence 1 because it explains Batman’s reaction to Robin’s death. Sentence 4 must follow sentence 3 because it explains that Batman’s reaction is the result of losing Robin. That leaves sentence 2 for the last sentence in the paragraph, which is the logical placement because it describes the next Robin to work with Batman.)

4. G

(The author is telling a story about the fictional character Batman. The longest break of 70 years in the story is between paragraphs 1 and 2. The beginning of paragraph 2 is the most logical place, of the choices given, to put a sentence that points out that time has passed.)

5. A

(No change. The sentences in this paragraph follow a clear chronological order. Moving the sentences as suggested in the other choices disrupts this order.)

6. J

(Sentence 1 must come first. Sentence 3 must follow sentence 1. Sentence 3 refers directly to the proposed conclusion to the story line mentioned in sentence 1. Sentence 2 must follow sentence 3 because sentence 2 explains how the story line was to be changed. Sentences 4 and 5 are in the correct order because paragraph 5 mentions that it follows Final Crisis, which is mentioned in sentence 5)

7. A

(No change. Sentence 1 must come first because it follows naturally after the last sentence of paragraph 4. The last sentence in paragraph 4 and the first sentence in paragraph 5 both mention the Final Crisis. Any choice that does not include sentence 1 as the first sentence must be incorrect.)
8. F
(The sentence proposed for insertion refers directly to the absence mentioned in sentence 2 and describes what happened during this absence. The added sentence comes naturally after sentence 2.)

9. C
(Sentence 4 refers to information not included in the paragraph. What is more, the passage is just as effective with sentence 5 following sentence 3.)

10. F

(The current ordering of the passage shows a continuing chronological development from one paragraph to the next. Moving one of the paragraphs would interfere with that chronological development.) 

